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ANSWER KEY K G D B~"“BDGK
1t lelss]o]lstlolw]o 5. (A §b E T uo r
2 |l 27y @ f[s52)1@ | 77]® > 2 rr
31 @28 @) [53)@E ] 78]I(0Q H IV WF GI J
AREREIRERE L L
5 (1) 30 (4) 55 (4) 80 (2) 6. (4) Only83isaprime number.
6 | 4 [31] @] 5] @G| 81L](Q 7. (1) Allexcept Taxi are pulled by living being.
7 (1) 32 (3) 57 (3) 82 (2) 8 (4 (101+15)-(43+35)=116-78=238
s To=lolslolslo (48 + 184) — (56 + 34) = 232 — 90 = 142
9. (2) (15-5)+(6x2)=22
o |l 32| @ |50 @8] @ 6.2+ (53 =1
101 (2 [ 35 ] 3 | 60 (1) ] 8 | (4 (14-10) + (3 x 2) = 10
111 @ |36 @) [61] (2] 86| (1) 1357 9 11,
elolslolelols]aw] @ 275w ea
13 (4) 38 (3) 63 (2) 88 (3) Here we have two series-
14 1@ [39] @) 64] @) ] 89 ] (2 ist series-1, 3, 5, 7, 9, 11,13
5@ |2 ® 65| @] %] NN NN
16 (3 41 ) 66 (3 o1 (1) 2nd series:- 2, 4, 8, 16, 32, 64, 128
171 @421 @ |67 @] 92] N ANNNS
Bl@ 23|36 |®]|93]|E 2o e
vl le|u|wlelo]e]|w Sonext termis -
20 (2) 45 (3) 70 (4) 95 (2) )
11. (2) Thepatternis: +20.5, +22.5, +24.5, +26.5
2113 [46 ] @M [ 71 )@ | 9% )06 So, Required number = 138 + 24.5 = 162.5
2 1@ 41| @721 @] 97 ] 12. (1) Here, the answer will be the product of number of
23 (4) 48 (2) 73 (3) 98 (3) consonants and vowels in the given word.
24 1l @491 @741 9]0 13 @ SO’ required answer =5 x 3 = 15.
25 ®) 50 (2 75 (3 | 100} @ 14. (1) Only conclusion Il follows.
1. (3) Except Kohima, others are state. . . [ %
2. (1) Transacation of second is done through the first. II. v

3. (4 Therelationis 3/x: (¥x +1)° +1.
15

Putx = 8, 27 . (3) |Word |A|R|D|E|N|T

Code |54 |3|6[2]|1

_ 3 .. - - ) L
Forx =8, result = (/8 +1)°+1 =27 +1=28 16. (3) Sunita's Grandfather's only son is his father and
father's son is his brother.

For x = 27, result = (327 +1)3 +1 =64 + 1 =65
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The word 'COMMUNICATE' can't be formed from the
word 'RECOMMENDATION'as we can't find the
word 'U" in RECOMMENDATION.
We can observe from the given diagram that number
3 represents indian professors who are also lawyers.
ConsiderA=1,B=2....,Z2=26
We have PRATAP =16-18-1-20-1-16
= 1618120116

So,NAVIN=14-1-22-9-14

= 14122914

ccacc/aabaal/ bbcbblcc
Total no. of routes=4 x 3 x2=24

Let the speed of stream be x km/hr
ATQ,

72 72
-
9+x 9-x
On solving, x = 3 km/hr

=18

20
C.P of shopkeeper = RS'E

25
S.P of shopkeeper = Rs.—

20
(20 2
_\20 25 _125-80 25
. Profit% — 20 x100= 100 xlOOx%
25
=£><100><§=561%
100 20 4
115 120 .
i jce =60x——x=—="82.8
Selling price X100X100
Let the given number be x.
Then,
[Xxg)—[x+§j:10
2 2
:gx—§x=1o:gx_4leo

=5b5x=60=>x=12
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57.
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SSCCHSL : TIER-1

Average of 9 consecutive no. = n
.. Fifth number =n

Tenth number=n+5

Eleventh number=n+6

IN+n+5+n+6

New average =
W averag 1

_1In+11  (n+1)x11 0
11 11
Cost price of D

= 4000 x % X& X 120 = Rs.4752
100 100 100

.. Required difference = 4752 — 4000 = Rs. 752
Le the amount invested at the rate of 6% = x
ATQ,

+1

(10000 x)x —— - X6 _ 76 50
100 100

—500- 2% _ %% 7650
100 100

= X =Rs. 3850

Hence the amount invested at 6% = Rs. 3850

A's distance : B's distance : C's distance

1000 : (1000 —50) : (1000 — 69) = 1000 : 950 : 931
i.e. B's distance : C's distance

=950 931

1ix =423.50
100

19m

i.e. in arace of 950 m, B can allow C a start of 19 m
.. inarace of 1000 m, B can allow C a start of

Ex 1000=20 m
950

Let the number be x.

Then,

x2 = (75.15)2 - (60.12)2
=(75.15 +60.12) (75.15-60.12)
=135.27 x 15.03 = 2033.1081

. X'=42033.1081 = 45.09

A
h
45° T 30°
Q Be—xX—> P

Let the height of the tree be h and BP be x m.
h

h
tan4s° = - =>1=—
QB

QB
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61. (2)

62. (1)

63. (2)

100-x=h (i)
o_nh_1_h

tan 30 X 3 x

X =~/3h ..(ii)

From (i) and (ii), we get

100-~/3h = h = h(~/3 +1) = 100

_ 100 J— 1_100(~3-1)
Bl B-1 2
~h=50/3-1) m
2400

=—— =Rs.40.
Per hour wages 60

140
Per hour wages after increase = 40Xﬁ = Rs.56.

250

Work hours after reduction =60 XI2100

New weekly wages = 56 x 50 = Rs. 2800
Increased in wages = 2800 — 2400 = Rs. 400

0 x100 = 16%%.

40
.. % change =

2400
a+b_£:> atb 2
Jab 1 " 2Jab 1

Applying Componendo and Dividendo
- a+b+24ab _2+1
a+b-2vab 2-1

(\/5+«/—) 3 \/5+«/5=£

(a-b? 1 Ja-b 1

=Ja+vb =+/3xJa-/3x+b

J3+1 Ja
= 3+b=(3-1)Va= Bk

=)

_a_ (V3+1)? 3+1+243
b (V3-1)2 3+1-243

4+2J3 2443
"4-2y3 2-3

Teacher's age
=16x10-19x4-5x10
=160 - 76 — 50 = 34 years

=(2++/3):(2-/3)

64. (2) We have the formulaas-

(2n-4)x90 (2x8-4)x90 1080
n 8 8

=135°

=50 hrs.
0
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AC
<

D

4
BF

CD=EF=45Cm
Minimum value of

4sec? 0+9cosec?0 = (/4 ++/9)? =(5)% =25
cos A+sin A=+/2cos A
sinA=(v2-1)cos A

SinA _ AL sin A \/—+1 oS A

N -1 2+1

sin A(v2 +1) =cos A
Now, cosA —sinA

=sin A2 +1)-sinA=+/2sinA

48 crn

AN

_5 Jom —

when we open it

D C
12.em
/ 12 cm
12 cm

M
12 cm

A— 1l6cm —B

the base circumference

=2nr =

N
X
X

= length of one complete turn

162 +122 =20¢cm

... total length =4 x 20 =80 cm
Let C.P of article = 100 unit

.. Total profit

—1OO><4 15 ——-100x% lxﬂzlz 2 =10 unit
5 100 5 100

Now ATQ,

10 unit - Rs. 45

. 100 unit > %X 100 = Rs.450
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70. (4) Sumit's present age = 2X years
Prakash's present age = 3x years
53X =2X=6
X=6
.. Required ratio
=(2x6+6):(3x6+6)=18:24=3:4

cos? 60° + 4sec? 30° - tan? 45°

71. (2
@) sin? 30° + cos? 30°
2 2
G &) .,
= =—+4x—-1
1 4 3

1 16 3+64-12 55
=+ 1= " -
4 3 12 12

72. (2)

C C
IO I
[2 180) (360)

73.

74.

75.

3)

3)

@)

SSC CHSL

Arc T 4.4

~ radius _%: r

4.4x360 4.4 %360
r= cm= x
b 22
r =504 cm
Formula:- (B)® +3(B)? - (B)! + (B)?
= B denotes base = 2
=(2° +3(2° - (2" + (2
=8+12-2+4=22+26
=48
By the method of Alligation,

7

Table Chair
20 30
30-23=7 23-20=3
=7:3
.. Cost price of table
} W00 x7 = 2000 x7 =Rs.1400

T 7+3 10
Let the required side of triangle be x cm.

2
X’ _ 256 _

25649

== = X=8cm
72 196 196

:TIER-1



